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n=17
(1)
10 6
20 1 3 4
30 7 4 1 2 6
40 3 8 3
50 6 3
60 5 1
70 4
(2)
i=Ix17+0.5=9 > M, =x,=37 -
3)
i=2x17+0.5=4.75 > Q =X, ;5 =% =31 ¢
4)
_ _ y =X/ 697/ _ o
IX=16+68+170+134+109+126+74=697 » p= A_ %7_41
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M, =M, +2(M,—p)=37+2(37-41)=29 -
(6)
min=16 ~ Q =31 ~ M, =37 ~ Q; =X, 75 =X3 =53 » max=74
16 74
31 37 53
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A R 8~10

X 3 4 1 5
y 5 7 3 8
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X y X2 y? Xy
3 5 9 25 15
4 7 16 49 28
1 3 1 9 3
5 8 25 64 40
13 23 51 147 86
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11. B P(-0.52<2<1.34) - 12. # P(z<a)=08 > THfflia -
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(11) P(-0.52<2<1.34)=P(0<2<1.34)+P(0<2<0.52)=0.4099 + 0.1985 = 0.6084 «
(12) P(z<a)=08 = P(0<z<a)=08-05=03 = a=084
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(b)

1—%:0.85 = k=258 = xe{28+258x5} = {I15.1<x<409} -
k
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14. The average number of annual trips per family to amusement parks in the United States is
Poisson distributed, with a mean of 0.6 trips per year. What is the probability of randomly

selecting an American family and finding the following
(a) The family did not make a trip to an amusement park last year?

(b) The family took two or more trips to amusement parks last year?
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1,000
AR 2 B (- xR [ ORI ) S G pe A Pt T )

. [HE HIND #rf
LB R S R R 1% o el

f
0% o UI:FI[

£ 25%
(a) MBI BT 3 B 4 RS
(b) S F RIS & B g2 > ELE R HINT #Erfh R pogsss o
(]
7 R PN
e izt [ B
YL 0.01x80% 0.01x20%
Ry 0.008 0.002 0.01
G 3L 0.99%25% 0.99x75%
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(a) P(M1%)=0.008+0.248 = 0.256 -
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